
Word Problems

1) Rapunzel has 17 braids, and each braid is 22 inches long. How many inches of hair does she
have in total?

2) Minnie Mouse wants to buy 8 bows, and each bow costs 9 dollars. How much money does
she need in total?

3) Donald Duck has 97 sets of golf clubs and each set has 6 clubs. How many clubs does Donald
have in total?

4) Winnie the Pooh has 88 jars of honey, and each jar has 67 scoops of honey. How many
scoops of honey does Winnie the Pooh have in total?

5) Spongebob needs to make 27 burgers, each burger needs 3 slices of cheese. How many slices
of cheese does Spongebob need in total?

6) If Olaf has 30 buttons, and each button has 52 holes, how many holes do his buttons have in
total?

7) If Batman has 2 gadgets, and each gadget has 5 buttons, how many buttons do his gadgets
have in total?



8) Scooby-Doo and his friends need 63 hot dogs for their picnic, and each hot dog needs 59
sausages. How many sausages do they need in total?

9) Simba has 8 lionesses, and each lioness has 7 cubs. How many cubs does Simba have in total?

10) Simba has 5 groups of lions, and each group has 4 lions. How many lions are there in total?

11) Ariel the mermaid has 73 seashells, and each seashell has 36 pearls. How many pearls does
Ariel have in total?

12) Cinderella has 79 pumpkin carriages, and each carriage has 9 wheels. How many wheels
does she have in total?

13) Snow White has 15 groups of dwarfs, and each group has 88 dwarfs. How many dwarfs are
there in total?

14) If Rapunzel has 18 strands of hair, and each strand has 35 flowers, how many flowers does
she have in total?
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Answers: 374, 72, 582, 5896, 81, 1560, 10, 3717, 56, 20, 2628, 711, 1320, 630
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